
FP-541 HB 

FR1010-T-72H



15

16   19



Bolt (8*40mm)

Qty. 8

Hook
Qty.1

J

G

H
 I

K

A

B

C

D

E

F

G

H

 I

J

K

1 1

Protective Cover

2

Gas Tank Bracket 

Gas Tank Support

1

1

L M O

P Q R

Qty. 8

N
Bolt(6*20mm) 
Washer





Bolt 6*20mm

 

G

E
D

F

M

M

O

NOTE: It is best to use TWO PEOPLE for assembly of this gas 
fire pit table.

 Connect Side Panels (D,E,F,G) at top and bottom of each panel 
with Bolt , Washer (M) as shown in Figure 1 using Allen Wrench.
NOTE: Do not over tighten all bolts.

H

N
N

N

O

M6

      Connect Gas Tank Bracket (H) to the holes located at the bottom 
      of Side Panels (E,G) using 2 Bolts and Washer (N).
Then slide ends of Gas Tank Support (I) onto the right side of the 
Gas Tank Bracket (H) and align the 2 holes on the front of the Gas 
Tank Support (I) with the 2 holes in the Door Frame (F) and secure it 
to the bottom piece of the Door Frame using 2 Bolts and Washer (N).

 I



B

B

 burner control knob 

F

C

L

L       Attach the 4 Bolt(8*40mm) (L) to the corners of the Table Top (C).
       Then align the Bolts with the holes in the Burner Bracket and
assembled panels and insert the Bolts through the holes. Secure the
Table Top to the Burner Bracket and assembled panels with
4 Washer,Spring Washer and Nuts (L).

Bolt 8*40mmL

P

Q

4

4 Put the Burner (B) on the table top and the burner control knob
face the side panel (F)



K

 J

5

6

        Pour the Fire Glass (K) around the burner.
        Be careful not to obstruct pilot light housing.
Put the Removable Burner Cover (A) on the burner when the fire 
pit is not in use or after use when the fire pit has cooled.

When the fire pit has cooled completely, cover it with the 
Protective Cover (J).

DO NOT PUT THE PROTECTIVE COVER ON A HOT FIRE PIT.

6



8

8

R
R

E

E







11

OPERATING INSTRUCTIONS

CAUTION
Do not attempt to operate until you  
have read and understand all General 
Safety Information in this manual and  
all assembly is complete and leak  
test has been performed.

BEFORE TURNING GAS SUPPLY ON:
Your appliance was designed and 
approved for outdoor use only. 
Do NOT use it inside a building, garage, or any other enclosed area.

2. Make sure surrounding areas are free of combustible materials, gasoline, and

3. Ensure that there is no obstruction to air ventilation. Be sure all gas connections
are tight and there are no leaks.

4. Be sure the cylinder is clear of debris. Be sure any component removed during
assembly or servicing is replaced and fastened prior to starting.

1.

 

2.

 

BEFORE LIGHTING:

The appliance should be thoroughly inspected before each use, and by a qualified service person at least annually. 
If relighting a hot appliance, always wait 5 minutes with tank valve closed.

Inspect the hose assembly for evidence of excessive abrasion, cuts, or wear. Suspected areas should be leak tested. If the 
hose leaks, it must be replaced prior to operation. Only use the replacement hose assembly specified by manufacturer. 

DANGER! 
FOR OUTDOOR USE ONLY

CARBON MONOXIDE HAZARD

Never use this inside a house, or other 
unventilated or enclosed areas. This appliance
consumes air (oxygen). Do not use in 
unventilated or enclosed areas to avoid 
endangering your life.

WHEN FIRE PIT IS ON: 
Burner will display tongues of blue and 

not be yellow or produce thick black 
smoke, indicating an obstruction of 

should be blue with straight yellow 
tops. If excessive yellow flame is 
detected, turn off fire pit and consult
the “Troubleshooting” section near the 
end of this manual.

 

LIGHTING:
1. Turn the control knob to “OFF” position. (Figure A)
2. (Natrural Gas skip to Step 3) Fully open LP cylinder valve. Note: For initial start or after any cylinder change, hold

Control Knob IN for 2 minutes to purge air from gas lines before proceeding.

3. Push in gas control knob and turn counterclockwise to “HIGH” (Figure B). Press igniter button. If needed, return gas control
knob to “OFF” and repeat these steps until the fire pit lights (you should hear a clicking sound each time).

4. After the appliance lights, release control knob  If you want a lower temperature push in the control knob and turn.
counterclockwise to the “LOW” Position (Figure C).

NOTE: If burner fails to remain lit, close all valves and wait at least 5 minutes for accumulated gas to dissipate before 
attempting to light.

OPERATING INSTRUCTIONS

 WARNING
Very hot while in operation!

Do not touch Table Top or Burner 

after use before placing Lid on Table Top 
or touching any surfaces. Failure to comply 
with these instructions may result in 
serious bodily injury.

a

Electronic igniter
requires AAA battery    

Standard igniter, 
no battery required 

NOTE：Some models have an Electronic 
Igniter and will require installation of 1-AAA 
battery.The battery should be installed by 
unscrewing the RED IGNITER BUTTON.

 C erugiF                                                                    Figure A                    Figure B 

Contact us for assistance:  customercare@jrhome.com  |  (800) 561-               5550    











16



17



Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550 18

GAS CONVERSION FROM LP TO NG

7. Connect NG hose to the burner control with a wrench. Connect the quick connect adapter to the NG supply
valve.

5. Reconnect the brass coupler on the stainless steel flex connector to the air shutter. Tighten using 2 wrenches.
6. Turn all knobs to OFF. Remove propane regulator and hose with brass adapter from the burner control

(manifold) with a wrench.

Propane Regulator
& Hose

Burner Control (Manifold)

Quick Connect Natural Gas (NG) Hose
(Not Included)

Quick Connect Natural Gas Adapter
(Not Included)

9. Fill out the conversion label included with your burner and apply it to the inside of the control panel
access door.

8. Place the burner back into the enclosure. Connect the NG hose to the Quick Connect adapter.

PART# NL-NGHOSE
www.paramountathome.com



19




